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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.
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PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

#T T & AU ftshda @y @ vE gver AUiRd # oS R
HET A A STRYREAR, HET TR B SR-GRAAT ST WA H
aRETd & S| Uiy, AR th 6 d ggel I U U A
arer gt T v B SeR-giae @Ale A v § 1l 9,
T &) T S-S o Fhd g

Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




T Udh / PART ONE

(W-ﬁ Tl & SR é) / (Answer all the questions)

1.

UP 3 B SR @ $s [dhed - foU 70 2 |

U% F I0YA fdded g SR S Frfeiiad feal &

U9 UF & A1 SUTE] FRIV T “INTHAR I

EECIR T ICRY

Each question below gives a multiple choice of

answers.

Choose the most appropriate one and

enter in the “OMR” answer sheet supplied with the
guestion paper, following instructions therein.

(1x10)
11 99 Ry w1 qu feah IR featad @
ST Y
#include<stdio.h>
int main()
{
int i=0;
for(;;)
printf(**%d",i);
return 0;
}
A) 0 IR
B) M R
C) 10 IR
D) 1 dR
How many times below for loop will be
executed?
#include<stdio.h>
int main()
{
int i=0;
for(;;)
printf(**%d",i);
return 0;
}
A) 0 times
B) Infinite times
C) 10 times
D) 1 times
12 FEfRad U™ & JISCye &1 Udl o |
#include<stdio.h>
int main()
{
char str[] = ""Smaller™;
inta = 100;
printf(a > 10 ? ""Greater" : "'%s", str);
return 0;
}
A) Greater
B) Smaller
C)  Wdford ¥ Terl
D) 100
l1|Page
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A)
B)
C)
D)

1.4
A)

B)

C)

D)

A)

B)

C)

D)

Find output of the following program?
#include<stdio.h>
int main()
{
char str[] = ""Smaller"’;
inta =100;
printf(a > 10 ? "Greater" : ""%s"", str);
return O;
}
Greater
Smaller
Compile Error
100

fforRad § o a1 Raa &9 $U4 A 9

31 -8l 87 / Which of the following cannot be
checked in a switch-case statement?
Character

Integer

Float

enum

calloc() QIK malloc() ? d1d IR WL W
calloc() U GTI"i'ﬁI'C’ oIl & e malloc() Gl
T TP B TR 2 |

malloc() Udh 311'@? IRRSEIRE calloc() Bl
T TP B TR € |

malloc() [ ® %I'Q adfed TR 3R Hral
g

calloc()ﬁ_cﬁ ® l%IK’ 3sfed FARY 3RY BT
g

Difference between calloc() and malloc() is:
calloc() takes a single argument while malloc()
needs two arguments

malloc() takes a single argument while calloc()
needs two arguments

malloc() initializes the allocated memory to
ZERO

calloc() initializes the allocated memory to
NULL

getc() bl 33\33?1 R &7
STDIN ¥ T guf &l ¢ |
PIgel W U 0 Pl TG |

X Brge UG |

ASRBT F H wEA B US|
What is the purpose of getc()?
read a character from STDIN
read a character from a file

read all file
read file randomly
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1.6 ‘structure’ 3R ‘union’ & 919 R ¢ :

A) ©H ‘structure’ P AR functions’ BT IR
R THd & W TP ‘union’ P HIR e |

B) &1 ‘union’ @ TR ‘functions’ BT IRATT T
qad 8 ER@ Ud ‘structure’ & AR T8 |

c) o ™ 9 WA emEfed @ TS B

D) 3 P R T T
Difference between structure and union is

A) We can define functions within structures but
not within a union

B) We can define functions within union but not
within a structure

C) The way memory is allocated

D) There is no difference

17 c ¥ RI@ a1 9L F9 7 &°

A Slre, o, Aiegerd

B)  VilsHI, Aigged, faure

C) I, ©CIHT, HigYeld

D) HIggeld, UM, "Il
What is correct order of precedence in C?

A) Addition, Division, Modulus

B) Addition, Modulus, Division

C) Multiplication, Substration, Modulus

D) Modulus, Multiplication, Substration

18 C# W & IHAM 81 2

A) TH NI ¥ TP ‘element’ BT SYINT IR
o & |

B) T8 W Il IE I AN HRAT MAS B |

C)  UE Ddd T D Udh YBR Bl & R N
el & |

D)  9OH GiféT SIRYE BT YS9 HAT Bio 2|
Disadvantage of array in C is

A) We can easily access each element

B) It is necessary to declare too many variables

C) It can store only one similar type of data

D) It is difficult to perform sorting operation on it

1.9  ‘identifier BT ®IF W 3L A &? / Which is
invalid name of identifier?

A) world

B) addition23

C) test-name

D) factorial
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1.10
A)

B)

0

D)
A)
B)
C)

D)

c % dRUeeT & & BRI |

T BaH H R AT IRUE 3 BRI H
SUANT =T8I fham ST e |

T B H R AT RT3 BRI H
SUANT fhaT S eheT 2 |

T B § ST T IRUGl el G
BRM H & TN fhar S g 2 |

SIRIGT BIg 78l |

Due to variable scope in C

Variables created in a function cannot be used
another function

Variables created in a function can be used in
another function

Variables created in a function can only be

used in the main function
None of the above
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2. U MY YR R A A W AT I 2|
TP He¥ UG fddbed g SR S Ffoiad Fael @

3THR U U & 91 Sueel dRIY Y ATHIR IR
TE H Tof BN | (1x10)

21 BRFE J U6 TN H TP 9 ARG A Te
et T |

22 QM P ATEdM TF ATed AT HeH Aredr
gRT fhar o Faba |

23 o1 I T I e @ STl UBR Th
S BT 7

24  TH UG 2-3mAm Wil @ Wil w9 ¥
aefed o) Tad © |

25  B®RM ‘free() DI ST TN w9 9
mﬁﬁﬁﬁmgﬂ:wwm
& foly 89 &g R & & foly ST fha
ST 2 |

2.6 WﬁW%ﬁﬁW&Wp:p+l;
T WD YPR & W AE H 1 el o
Tl © |

2.7 @"‘T "Bilbo Baggins", BT 13 U P Uh ESRll
¥ wufed foar o Gadr 2

28  typedef B Th YHR & G Sl B T4T 4
& forw SwINT fhar o 2|

290 P Wfyd T BT Sladrel a8 3afy & R
31T BRIHH BT feharay fobam |

210 Sig ‘Eﬂ'q'UTI'Q char **apple, char *apple[], and
char apple[][] Ud SR g ?

3|Page
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2. Each statement below is either TRUE or

FALSE. Choose the most appropriate one and

enter your choice in the “OMR” answer sheet

supplied with the question paper, following

instructions therein. (1x10)

2.1 Functions cannot return more than one value
at a time.

2.2 Functions can be called either by value or
reference.

2.3 Does the data type of all elements in the union

will be same?

2.4 We can allocate a 2-Dimensional array
dynamically.
25 The function free() is used to release

dynamically allocated memory back to the
heap for possible reuse.

2.6 If p is a pointer then the expression p = p + 1;
adds 1 to the value of p regardless of p's type.

2.7 The string "Bilbo Baggins", may be stored in an
array of 13 characters.

2.8 typedef is used to give a new name to a known
data type.

2.9 The lifetime of a static variable is the duration
of your program's execution.

2.10  Are the three declarations char **apple, char
*apple[], and char apple[][] same?
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Hed x § foU U vreel &R arql @ e ofed v ¥ Qv U Meean waftd e / o) / 9t
U FY| I AU T SRl FT UIE PR Y AU fdhed U UF @ WY U Y HITHIR IIR

T H Tol Y| (1x10)
X Y
31 | yggredl A | 9 A axA A1 Red | aIeR M @ forg yged |
32 | RgW aiwee B. |Ud U & AAH W AN U @ UAY JRIYN B b folg e |
33 | getchar() C. |yl @ foly Had @ Ud W0 & Ol Uh dd WIIN ¢ |
34 | rand() D. U JFHC © il U 0T & folY VP Gad & WK I & |
35 | putchar() E. | IR A0 BaeH & IRMNT & 91E ARG 8 o W 30T
A /OR8] Vel |
36 | break() F. | sRITeT U Y ST YR Bl YRHINT B & foly 3Af ol & Sl Hiolal
T P UPR B WK 8|
3.7 | continue G. |qM® 3YC fSars &1 te sl 2|
38 | waferd H.  [foRuer 19 <1 21
3.9 int p(char *a[]) . |YRM® a@[%@—q; T S7ReN |
3.10 | typedef Jo R 9 T qq—cér%@—q; THRHD q:uﬁaﬂ
K. |oTaR 9o @1 s 4 T R qreR Sg_vl favel H uReg fam mar 2
L. 9% JMSeye fSasd @ forg U quf i |
M. g 9 o faff= SRISHT & ddl @f U O &, ofd R |
4, A AT U YRS A9 H A9 QT Gl W UB U AT aI) Bl WMol WF H A | He Sugd
fower T iR 99 =feiRed sl & SFER % U3 & 91 QU U “3UHaIR” SR UFd H (Al
fdded ot N | (1x10)
A. int *p( char *a[]) B. Union C. pointer
D. External E. Atoi F. Ivalue
G. Rvalue H. && l. ftell()
J. Parameters K. fseek() L. stremp()
M. int *(*p)(char(*a)[ 1)
4.1 U R 2 O & 3 R BT ol Il € |
42 U A9d W B WD TH A A S I g |
43 T ATHE B WIGR IR & S a0 & foly o @1 T WU & R UF quiies A1 & forg
U% FaF R &l ¢ |
44 TR B IAFHS A BREE B @ 9 H ST I R |
46 W HaR H RET & T $1 & oy YR avell & |
4.6 U int HIT “whitespace sign digits” P w9 H Udh LIRGTA @"T B HaC P 2 |
47  PBUBR ¥ TR A o1 31§ f sTgTHT SfiNey @ 910 81 B 3R e Sifestae AR 2|
438 TfEHd AND MRS & 3R AND T JMTSTYC TR 9§ I T ST a7 £ |
49 wigd ¥ & difed fig o Rufa fufRa o= |
410 , el Fev et fIaTa ST <3y U SR W 3T & e ¢ |
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3.

Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 Identifiers A. | Used to terminate loops or to exit from switch
3.2 String constant B. | Used to bypass the remainder of the current pass through a loop
3.3 getchar() C. | Accepts an argument which is an array of pointers to characters
34 rand() D. | Accepts an argument which is a pointer to a character.
35 putchar() E. | Does not retain its value once control is transferred out of its defining
function
3.6 break() F. | Allows user to define new data-types that are equivalent to existing data
types.
3.7 continue G. | Enter a character from the standard input device
3.8 Automatic variables | H. | Returns the absolute value
3.9 int p(char *a[]) I Initial random number generator
3.10 | typedef J. Return a random positive integer
K. | Any number of consecutive characters, enclosed in double quotation marks
L. | Send a character to standard output device
M. | Names that are given to various program elements, such as variables.

4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)

A. int *p( char *a[]) B. union C. pointer
D. external E. atoi F. Ivalue
G. rvalue H. && l. ftell()

J. parameters K. fseek() L. stremp()
M. int *(*p)(char(*a)[ ])

4.1 is a variable which holds the address of another variable.

4.2 A global variable is also knownas __ variable.

4.3 accepts an argument which is an array of pointers to characters and returns a pointer to an
integer quantity.

4.4 The argument list of function is known as function’s

4.5 C provides the function to compare strings.

4.6 converts a character string in the form of “whitespace sign digits” to an int value.

4.7 In compiler error messages means that an object on left hand side of assignment operator is
missing.

4.8 is logical AND operator and output of AND operation is TRUE if both the operands are true.

4.9 sets the position to a desired point in the file.

4.10 , contains members whose individual data types may differ from one another.
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[T &I / PART TWO

($'_{5 IR YA BT IR ?T)/(Answer any FOUR questions)

5.

a)  USd T AR & folY OIS dlrd I b
forg g ford W81 U9 WAIe gRT §AYC
BT T |

by 3 ACH B YW HA B U TH UM
fored |

a) Write program to generate multiplication table
for first ‘n’ number, where ‘n’ is a user input.

b) Write a program to multiply two matrices.

(7+8)

6.

a) WGl $IYC G b WIF B AT IRA b
foy qRIad waRM B SWANT @Rd gU U
T ford |

b)  U® B3 H BT & RS TR T & foly
o ford, STt IS el B @1 T,
el AR, Wodiv @ik uar & 21 e
HTEe W a0 U 3R I UeRid HN |

C) SETERY & A1 ‘union’ 3R ‘structure’ & I
P AR I T BN |

a) Write program to compute factorial of a user
input number using recursive function.

b) Write a program to write records of students in
a file, where each record consists of student
name, roll number, CGPA, and address. Read
the records back from the file and display
them.

C) Write difference between union and structure
with example.

(5+7+3)

7.

a) e WOl § WA BT UH AT AR XA D
fory uRm ford | WRO @ BaEH H UM N
S a9 g9 WA B Udl G iR fevet
CaGIR

by ¥ ¥ TN RS @ R H \eg H ford |

a) Write a program to input a set of numbers into
an array. Pass the array to a function that finds
and display the largest number.

b) Write in brief about storage classes in C.

(8+7)
6|Page

ROUGH WORK SPACE:

b)

a)

b)

b)

a)
b)

UG UM TR @ S Wfoeid #ER A
e & SHINT ¥ SIS Wl Ug Tadl @
3R 39D 18 I Y A H S5 UG Y |
31 R @l e & U @ ford | (3Afdee
RET BaRM BT SUART T FY) |

Write a program using dynamic memory
allocation to read numbers as input and display
them in sorted order thereafter.

Write a program to concatenate two strings.
(Do not use inbuilt string function).

(8+7)

SUYF SETERY & A R b TH |
frfofad e S & & forg Ta R
fores |

*
*
*

* % X X X F %
* %k kX X
* ok X
*

Explain switch-case with a suitable example.
Write a program to generate the following
patterns.

* * %
*
(6+9)
*kkkk
M3-R4-0716
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